
w w w. i n c ra .co m

®

Manufactured by:

Taylor Design Group, Inc. 
P.O. BOX 810262  Dallas, TX 75381
www.incra.com

INCRA is a Registered Trademark of Taylor Design Group  

©2022 Taylor Design Group, Inc.   11/10

Side Winder Side Crank Installation on INCRA 
Router Table Stands

Note:  This addendum replaces Fig/Step 10 & Fig/Step 11 of the Woodpecker provided mounting instructions.  
Please follow all assembly instructions of the original manual up to Fig/Step 10 before using this addendum.

MADE IN THE

USA

If your INCRA router table stand is already assembled you will first need to remove the table top and remove the 
front top stretcher.  Remove the lower 1/4-20 x 1/2” hex bolt from the left end of the stretcher, Fig. 1.  Loosely 
attach the Side Winder Crank’s side panel to the stretcher using the provided 1/4-20 x 7/8” hex bolt, washer 
and square nut. Place another 1/4-20 x 7/8” hex bolt with washer 
through the lower hole on the Crank’s side panel and add the large 
gold washer to the fastener before loosely threading on the square 
nut, Fig. 2.  

Re-assemble the stretcher to the stand sliding all 3 of the square 
nuts on the left end of the stretcher into the t-slot in the leg.  
Make sure the Crank’s 
side panel is parallel 
to the leg before 
tightening all of the 
mounting bolts, 
Fig. 3. 

Using the remaining 
hole in the side 
panel as a guide, 
drill a 9/32” hole 
through the front 
stretcher, Fig. 4.  
Place a flat washer 
on the remaining 1/4-20 x 7/8” hex bolt and insert through the 
hole on the side panel.  Add a split lockwasher and a square nut 
then tighten the assembly in place, Fig. 5.

Continue with Fig/Step 12 in the Side Winder Owner’s Manual.

Fig.1

Fig.2

Remove front 
stretcher and remove 
lower hex bolt from 

left end

Fig.4 Fig.5

1/4-20x7/8
hex bolt with

washers

Square
nuts

Large washer
this bolt only

Square nuts 
captured in

T-Slot on Leg

Re-assemble Stretcher to StandFig.3

Drill 9/32” 
hole through 

stretcher
1/4-20x7/8

hex bolt with
washer.

Secure with
lockwasher 

and
square nut


